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��� ���� 26 13.5 

9
	�� �� 9 8 ����C�� 18 3.5 �.
6A6�� �%� 26 12 

�
�	� 3% 9.5 11 ����
	�� 18 20 �.
6A6�� 26 11 

9
C��� 9.5 15 ��������� 18.5 6.5 �@C�� ��% 26.5 16.5 

4��< J
�	�% 10 13.5 �6�6��� 19 9 4	��� ���� 26.5 14.5 

4!�� J
�	�% 10.5 13.5 ��)���� 19 17.5 9�)
8 27 14 

���) 10.5 16 ������� 19 20.5 4	��� 27 16.5 

�6�)�� �8"� 11 11.5 ��
�	�� 19 22.5 ��,��� ���� 27.5 6 

�6�)�� 11.5 10 ������� 19.5 13.5 �
���� 28 5.5 

���	� 11.5 15 ?����� 20 11.5 E
!���� ��( 28.5 0.5 

�
8� Y���� 12.5 5.5 8��%�� 20 15 ���)� 29 7.5 

5������  219.3  370  5������  573.5  447.5  5������  850  415  

��6���:             J
�� � J������ ���.��<����� ����
C�� '��( �
�%(*
� �#)
��� 3�(
1/100000. 
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3 
 4�
%�
� ��8�	��� ��8���� 9
�#��):� ���%� ��)�:  

��8���� 9
�#��):� ���%�= �� �.
�� ��8���� 9
�#��):���8���	�� �����/ ��(��8���	�� �������  
                   = 1232.5 / 105 = 11.7                                                
��8�	�� 9
�#��):� ���%� =��8���	�� ������� �.
�� ��8�	�� 9
�#��):� /��8���	�� ������� ��(  
                 = 1642.8 / 105 = 15.6    

4 
 9
�#��):� ���� '�( 9
�#��):� T2� ��)8. 

         ������� ��,8�� '�( & � ����	�� ����� 5��%� 48
���� ���%��� �= 
8��� �,��.
4��8���-         ���8
8���� ?��� 3%� ������� ����F� ���C 4%��! ��� -     48
����� ����%��
. 

�
�( 3,� 4��� ��� 36
A�� �)�� ��! & � �������.  
   ���%��� 5
�%��           '��( 
�8.�	� �= 3,��� 4. ��8���	�� ������� 5��%� 48
����

              �� �8��� 4. ������� T2� &���% ��A�� �,�� 0� ;8��  ��8���	�� ������� ����% �� 8- 
         9%�%�� J��
 � �)= '�G E����� �� �� * �
� �2�-       ��	��� �= ��
�	��� >��)8*� ��� 

  ��
�	��� )Stondard.distance( )1(-  ��� J
� �      ��������� ��8���	�� ������� 9%�% �
48
���� 
,��� 3�)-4�
%�� �)8�� '�( ��)%� :    
 n5    ��
�	��� �	���=∑ فن /2    

7�): �  =�
 8�� ��(.  
> =      �8�	� �� 8 �= ��� �	���) 5 -J(    48
���� ����� �()nJ- n5 (-    ��� m�C%��%�

���
	���  
> 2 ) = J
 nJ  ) + ( 5– \ 5 (.  

���� �2� '�(�:    
  n5 =( ) ( )∑∑ −+− سَسنعَعن //

22  
n5  =105/2.6489105/7.2546 +            

 n5 =27.9   
    j��� ��
�	��� �	��
.)9.27 0� (.           ������ 4�. 
������ & � ?���� 
8��� �2V. 

   ��8���	�� ������� &���%� 48
����-      ��
��	��� �	��� 
���! >68 j���� -  �V�.    T2�� 
    0@% >�� ?������)57 ( I
�8���( I�����-    ���8� �= )54.28(%      �������� 3��� ��

                                                
(1)

 ��C h�A6  .;���
�=� ;��
8� 4.��/��� 7)��� . L -T��2 ��� &���335.  
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 � . ��8���	��-       � &���% ��8 �= �2� '�( �%�%��       �
��( 3,�� 4. ��8���	�� ������- 
   3���( ?�	� �#$%% 4%��-    I
�	��� I
�8
�� I
	���% J�� .        0@�% �= K�%A��� �� �
� 7�) 

� ������� 4#�# ?������ T2� 0!� 3���� -3,��� 4. ��8���	�)1( .  
          �� �
���� ����H��� 3"C �� �
�( 3,� 4. ����	�� ����� &���% '�( 
8A!�. 

   &���%�� �2� ��8 ���)%��-          0��C%��� '�G ��	�� W &��%� 0= 4����( 0= 0�%8� �� 3� 
0�
� >�	% U�C= ��@
�� � ��� ) ��!F� �
��� � ���Nearest neighbour(.  

 �=2 o> ك  
   � 7�)= &���%�� �8��!.   o> =         ��� 8 ��!=� �� 8 3� ��� �.
���� 4�
�)�� ���%���


,� ?��
��.  
 Q =�������� �
 8�� �.
#�- �  ��
�%�  / ��.    

 �� =�������� � �8��� �)
��. �     =�������� �
 8�� ��(.  
 01� �����)1(  

 !����
�� ������ 	,��
�� ��������� ��� 	
 ���
��� ����
 ����� .  
�
�( 3,� 4. ����	�� ����� 5��% ��
�	��� �	��� 
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��6���:           J
� � J�����  ��.��<����� ���
C�� ���
	� '�( �
�%(*
� �#)
��� 3�( 
100000 / 1 ��6�� ���
	� p�
8�� 4. )photoshop ( .   

     ��� � ���! �6)8% )0 � 2.15( -    &���%�� ����.    � ����! 9�/�� �2G I
	��%�
I��A6-        � ���! 9/�� �2G I
��%8� �����  )2.15( -       
���8( I
������( I
	���% ����� 

 � ���! ���% )1.0( ) 1(.���
%�� 9���C�� &�%8 � �
��� �8�� �� ����%� :   
1 
              �
�( 3,� 4. ��8���	�� ������� �� ���� 3� ��� ��6
A�� ���	A�� �.
���� J
 %

   ���� ��!=�         J
�� � J����� ��.��<����� ���
C�� '�( ;� ��
�� 48���(
1/100000 )    �%������� 3�)% 0# �%��%8��
�-   3�. 1      ��
��� �����C�� '�( 0�
1     ���
C�� T2� 4. �	����� '�( 0�(       0�!� 3����� ��8� 3��� 4. 3��%� -)2(. 

       ������� ��( '�( 0� %� 9
.
���� T2� &��% 0#-    �
�)�� ���%��� '�( 36)8.  4
5 o> ���	A�� 9
.
����:    

 5 o> I�2G        = > p� / �  
 =                120.4 / 105 =  1.146  

2
3,��� 4. ��8���	�� ������� ���
�)�� �.
#��� �
�) :   
 Q      =105 / 384 = 0.273 3� 4. 48���( ���� 10� 2  
 01� ���+��)2(:��
��� ����
$� ��+ ��1� ��$�9�� 5�
��
��0���� ���� ��� 	
 ��,  
ا�� ا�	�آ� 
  ا��	�ا��

  آ�
ا�� ا�	�آ� 
  ا��	�ا��

  آ�
ا�� ا�	�آ� 
  ا��	�ا��

  آ�
ا�� ا�	�آ� 
  ا��	�ا��

  آ�

 1.5 ا�('دة 1 آ'"&�ت 0.7 #!"!ة 0.4 ��ب ا�����

 1.5 �0ص 1 .- ,��ت 0.7 د"� د�'م 0.4 ا��	�!"�

 1.5 ا�(	�=� 1 >�;� ا�:9!ي 0.7 زوق ,!ارة 0.5 ا��1�232

 1.5 ا���@�"� 1 وادي #�@'س 1 د"� ا��:� 0.5 @?< ا��1�232

 1.5 ا�	(�'د"� 1 ا��	�رة 1 ا�:	��� 0.5 ��< ا��;!ة

 1.5 ا����2 1 ا���!ة 1 .- آ�ل 0.5 وادي ا�	�س

���C� 0.5 �����"ة 1 ا���	�	1 ا� >"�	, D�0 1.5 

�E&ا� �C. 0.5 اق 1 ��,'ت�F	1.5 ��ار 1 ا� 

 1.5 دار"< 1 ر"�ف ���C� �" 1دو 0.5 آ1�3'

 J0', 1.5 1 ا�H@�. -. 1 ��)"'I 0.5 ا��2',��

�!س 0.5 ,��ون -. 1 >"��L@ ا����2 1 زوق ��M; 1.5 

                                                
(1)

 ��C h�A6  .;���
�=� ;��
8� 4.��/��� 7)���.  L -T��2 ��� &��� 341.  
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 1.5 ;��9< 1.5 .- و��وع 1 ا��(�9 0.5 .- وز"�

��< ا��ر�Qء 1.5 ا�:��3"�ت 1  زر;O�C 0.5 .- ا����1 2 

�Q�0 س��� 2 �	�"�ن 1.5 أرزو�� 1 ا���"�"� 0.5 .- 

�;�R س��� 2 ;�'زي 1.5 .- �9'ن 1 ا�!;'��� 0.5 .- 

 2 ا�	!,�C 1.5 ا�=�"	� 1 ا���'د"� 0.5 آ�وم ��ب

!	�@ D�0 0.5 ش��� D�1 1 ا������	2 زاه! 1.5 ا� 

��C, 0.5 �;�# D2 ا����و��� 1.5 ا�&�ا;� 1 ا��� 

 2 ا���D ز��د 1.5 ا�:'"	�(� 1 ا���"�E 0.5 @��9رة

 ���C. 2ة ����C. 1.5 1 ;�9 ���� 0.5 ر,�آ'

 �C. 2	��ة 1.5 آ�9(� 1 ا�(	���Q 0.5 @�ر.'@�

�;�� D(?'رة 0.5 ا���	�1 ا���	ه�ي 1 ا��E1.5 ,=� ا� �Q�� 2 

 2 .- ���- 1.5 ا���(�� 1 �=�ري 0.5 آ�م �32'ر

�� 2 آC@ �3=� 1.5 >�;� اTآ�اد 1 ا����CLت 0.5 ر�1

 2 ���� ا�	I!ي 1.5 ا�!آ�=� 1 ��ن.- @� 0.5 زوق ا����92

 2.5 ا��U�9Lة 1.5 ا���2�2 1 ,=� ا�='�� 0.5 زوق ا������2

 2.5  ;�ج ا�	=('ر            

  آ�120.4 ا�	:	'ع

��6���:             J
�� � J������ ���.��<����� ����
C�� '�( �
�%(*
� �#)
��� 3�( 
1/100000.   

3 
� o> ����8�� 9
.
���� 4�
�)�� ���%��� m��C%�� �/�6�� ��  :  
 � o>   =2/1ك  

 � o> =273.02/1   =956.0   
    ��
�� ����8�� 9
.
���� 4�
�)�� ���%��
.0.9560� - ���! '�( 36)8 4��� 

�-����8�� 9
.
���� 4�
�)�� ���%��� '�( ���	A�� 9
.
���� 4�
�)�� ���%��� 0� 8 :  
 �   = 5 o> / � o>  

 =    1.146 / 0.956 =  1.199   
   �8�� �� T2�� )1.19 (        I
	��%� J��� I
�����( J�� &���%�� �= '�G ���%-   
��8G 

     0
�%8*�� ��
8%�� '�G 3��� I
��8 3#��-     ( ���% � ���! �F '�) 1(      '��( 3�� �2�� -
��8�� �2� ���� 4. 9���%  3���(� U�! ����.  

3-�6:
�� �
�����  ;	
����� 	
 <�%�� 4���� :   
1 
  �������� �
�����:         I
#��)� I
���! U� �� &!��� �
�%C� 4. 4���� ��� 
,�-  ����:� 

  � 
���#$% 0�)J���     �) '�( 4	��� 3�
( 3� ?-        
�,� �
�� 3���	�� �= ��� %� 
3,��� U� � 4�
)�� &���%�� 3�� 4. 4�
�F� �����.   
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  )– >��
�� :    4�
�= ��� I
���� E
���          
,	�@�%� ���8���	�� �������� ��,� 4. 

���8�-          
,%�
A�� T
���� �.�% ����%�
� 48���( ���� �= ?
�) ��%�% 7�) .   &����� 

              ����
��� ��
6���� �)= '�( 9��!= E
8#%�� ��� 3,��� 4. ��
 ��� ��8���	�� �������
)�
,8=- ����= - &��
8� - �
�+ (-  F�� �
,8F� 0�� 
8���= 
� �2G �2� �)"�  ���
C 4. ����

 ��8���	�� �������-         4�
� U��� '�( 
�G 
����� '�( 3�� 4�C 3��� U� �� &@�%. 
  9"6��� ���� �=.      ����(� &��
�8� '�( I
�
 � I
�8���( I����� ��( ���C Q
8,.  

 �
�+� �����-   ���8� )14.3(%       3
#� ����	�� ����� ��)   d�
��� ��(–   ?������–
  ����C��– ��,��� ����(...-    ������� T2� &!��� >�%C%� -         �= 4)A�� ��� 
�� 
,8�. 

  4�,� �= 4��
�.   3,�� 4�. K�F� B�� �� ��.���� T
���� U�%�� ��! U�= �!� 
  �
�(
     �	� '�( 4,.  �)�� �%�   4�)
��� ������ 4. 
      
�,%�(�8� 
�,�
�� ?���<� 

       
,�
�� �� ?�
A%�*�� �
�P� �A) ���,� '�G ?�����-    �	���� 4. 
���( �
�.    ��#�= 9
8
  ��)600 (   �
8�� �
�( 4. ���)1(   � )260 (     � I
���� 9�A) I����)540 (   9��A) I����

   ����� �
�( 4. I
��+)2(-     3,��� 4. U�! E
�8G 4. �
�P� T2� 9��
�� -   ����! 3
�#� 
 ��,��� ����-      �	� '�( 9��8= 4%�� )7 ( �������� �����)�� ?��� ��� 3
�� 0�-  4�. 

  0
()19800 (  � �� �
��:       4)
����� 9����( 5���� 4. 0,�@��= 9���q%�-   
��� 
               4�
�� ��6� '�( 9��8= �! 98
� 4%�� U� �� ���� ����%�� 4. �
�P� Q�% 9�(
�

 4)��)e����,8 �= 4�
�  .(  
��#� 	��= �           ����
��� �����F� >
A�@ '��( I
�
 � I
�8���( I����� �-   
,%���8 

)38.09%(- 3
#� :    3	�� 3% –    4��� �A� –   ��8�� – � ������.(...-    0�C%�% 98
� �!� 
    ������ ���� ����F� T2� T
��-     �@
)�� 9!��� 4. 9A� 
,8�� -     
,�
�� ���% �	% 0�. 

?���/�� �
��F� 3��� 9
!�= 4. *G.     

                                                
.    Ministere des ressources Hydraulique et electrique.  Republiqe libanise

)1(

.               38-34page , 1971, Tripoli .akkar,d  situation des irriquation dans plaine

                    
(2)

 ������� ����	�� ����,����  .� ���� ������ ���8%�� ������F� ��
���� &� ��
	%�
�  T
���� 9*
�	%��
 ������� . �
�( 3,�� 4(����� ����%�� 5����.  -���� 1978  L -58 – 71.  
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 ��C Q
8���             -3,���� 4�. ?�
��� �
,8F� >
A@ '�( I
�
 �  I
�8���( I����� �
  3��%)48 (%  ������� ��-    �,8 '�( 
,8� �#"#    c��F� )  ��8
)����–   �����,�� – 3%

3��(-      
,8� J��	�� �,8 '�( ����� �%�� )   �%��–   �8���= – �8�)�� .( ..-  �#"#� 
      ��. ��= T�.�� '�( �����)  ��
�(–   ?��%���� –   ������   (      ��.���� '��( ��#"#�

   �A��C �CP� )   5�
(� 3%– �8���= 
   �.������ (-      ������ �,8 '�( I����� ��( 
8#��  
  4��8���)  �����	��–   �������� –   ��
� Y����–�@��	��.(..-    ��,8 '�( ����� ��8
�#� 

  48����F�)   ��.��� 3%–     4��< J
�( 3% –   4!�� J
�( 3% .(....-    ������ �	��=� 
     Q��	�� �,8 U��� '�()   
�
� Y����–   
��) – 9
	�� �� .(....-    ��8���( ����� ��(� 

    �!�( �,8 '�()  �!�(–  ���
)– 	�� ?�
�.(..          ��
���� ��,8 '��( ��)�� ����� -
)?��)���  ( 0!� ��6��� ��8�)3(.   

    ���( ����� �
�( 3,� 4. �,8�� 
��
%�� 4%�� �.
���� 3�� ��� 
��� ;8= �)"�
  ;��( ��8���	�� �������-      0!� 48
���� 3���� ��8� )2( -        3��
	� �
��)� �2�� ��$%� 

       � ����� � �(� �
,8F� 3���= ��� �
�%�*�     3,��� 4. 
,��( ����	�) ������ � ���(- 
���
	��� ��))1(:    

 � ) J p� * L (– J p�  *L p�  
 �=  

 ] � )J p�2 ( – )  J p�(2 ] * [  � )L p�2 ( – )  L p�(2[   
7�): �  = J   ��8���	�� ������� ��( = L   3�F� ��/%��� =48
#�� ��/%���  

    ���! p%8% � �
��� ���
	��� ����%�      9/�� 4%�� �
�%�*� 3�
	� )0.76(-   '�( 3�%� 
          
��
%�� 4%�� �������� 3,��� 4. �,8�� 3�� ��� ��! 4.��/� �
�%��-   ��
�% �)"� 

      �CP �,8 �� ��8���	�� ������� ��� ��6
A�� 9
.
����-   ���� ��(
�%��  ���%� '�($. 
       j�� c��F� �,8 '�( �
� ������� )4.6   0�   (   �( �,8 '�( T
8�=�  �!)1.1    0�� (- 

   ��� h���%� )2 �2.9   0�  (            4���8��� ������� � ��
���� � 48�����F� �
,8= '�(
J��	��� Q��	���*- 0!� 3����� ��8� )3 (  0!� 3�����)2( .   

                                                
(1)

 '��� 4�(   .������ ��.��/���  .  ���� �	�
�1989 L   194.  
*
 �#)
��� 3�! �� 9��)  : �
�( 3,� 4. �,8�� 3��  /�8���	�� ������� ��(;��( �	@�%��� �.  
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01� ���+��)3(:���� ��� ���,) ?$� ��,��
��� ����
�� ��� 	,��
�� ������� ����
   
  

��,�� ���� ��� 	
 @���/ 0� ��,��
��� >����
 ��� 	,��
�� ������� ����
 /0� 

 �I� 14 3 4.6 اT;�ش

OC1 ';أ �I� 11 3 3.6 

�3�C< �I� 10 3 3.3 

 �I� 17.5 6 2.9 ا���وس

Z"'ا�� �I� 10.5 4 2.6 

 �I� 26 12 2.1 ا�=��� ا�:9';�

 �I� 16 8 2 اU�T'ا��

 �I� 2 1 2 ا���رد

�Q�� �I� 11 10 1.1 

 2.3 50 118 ا�	:	'ع

��6���:            J������� J������ ��.��<����� ���
C�� '�( �
�%(*
� �#)
��� 3�( 
 J
� �100000 / 1.  

    01� 	,����� �����)2 :(           ��� � ���� ��� ���,) �(���+� 	��� �
��
�� ��� �1B���
���$� ���
��� ����
.  

��6���: 0!� 3����� '�( �
�%(*
� �#)
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